HW Answers Unit 4 Lesson 2 p. 635

Solutions to Odd-Numbered Exercises

1. 10, 8, 6, 4, 2,...

Arithmetic sequence, d = —2

5. —24,-16,—8,0,8

Arithmetic sequence, d = 8

9. a,= 8+ 13n
21,34, 47,60,73

Arithmetic sequence, d = 13

- 13.a,= 150 = 7n

143, 136, 129, 122, 115
Arithmetic sequence, d = —7

17. ay = 15, a4,y =a, + 9

15+9 =24
a; =24+ 9 =33
a, =33 +9 =42
as; =42 + 9 = 5]

o
I

d=9,au=6+9n

2l g, =5,d=6
ay =3
az__=_5+6_=_11_
a; =1l +6=17
a, =17+ 6=23
as; =23+ 6 =129

#1-43,59-71,83-87 0ODD

3.3,%2%1,...
Arithmetic sequence, d = —

B

7. 37,43,49,55,6.1,. ..
Arithmetic sequence, d = 0.6

' 1
11. a, = ﬁ_l

2?3456
Not an arithmetic sequence

15, 4, =3+ 22
it
7713

1,
Y325

Not an arithmetic sequence

=1 -
19- al - 2’ﬂk+l —ak‘"".;_

m=i-i=14
a=3-i=%=1
“4=%_%=1741‘
=t le g
a=~ha,=%

23- al = _‘26, d = _0.4

@ =—26+(-04) = ~3.0
a; = =30+ (-04) = —3.4
a, = —3.4 +(-04) = -38
a; = —3.8 + (—04) = —42



2

5. az = 26, @y, =42
W6=ag=a +{n—1)d=aqa +7d
L=ap=a+(n—1)d=a + 11d
Answer: d = 4, a, = —2
a, = -2
aG=-2+4=2
a=2+4=6
a,=6+4=10

a5=10+4=14

29, g, =5,a,=11=d =6

ag = a, +9d =35 +9(6) = 59

33 a = 42,0, = 6.6 =>d = 2.4
a;=a, + 6d =42+ 6(24) = 18.6
37, a, = 100, d= -8
a,=a, +(n— 1)d=100+ (n ~ 1){—8) =
39. 4.3, —1,~3,..
s
a,=a,+(—Dd=4+m-D-H=2-in
4l. a, =5, a, =15
a,=a,+3d = 15=5+3d = d=1Y
a—a1+(n—1}d—5+(n"1}{m)=?0u+%
43, a, = 94, a = 85

ag=a; +3d => 85=04+43d = d=-3
a, = a, —2d = a, =94 — 2(—3) = 100

a, = a +.("_ 1)d =

8. a, = 8.ay = 26 =>d = I8
ay = ay + 9d = 8 + 9(18) = 170
$,o = Pay + ay0) = 5(8 + 170) = 890

63. a, = 100, a, = 220
a:-q =-ﬁ'| 'l'zi'l-d:d: 5
S5 = 'z‘.?{”n + ape) = 12.5(100 + 220) = 4000

67. @, = 5, 2,59 = 500,n = 100

a,s = 2(15) + 23 = 53

tﬁn = (5 4 500) = 25,250
=]

100 + (7 — 1){—3) = 103 - 3n

27. a; = 19,85 = ~17
a5 =ay + 12d
—17——19+12d:=.d——1725
a4y =ay+2d =19 = a, + 2-1.725) = a, = 2245
@, =a, ~ 1725 = 20725

a; =19

a, =19 — 1,725 = 17.275

as = 17.275 ~— 1.725 = 13.55
3. g, =2,8=—-2=d= —4

a,=a, +13d =2+ 13(—4) = —50

38.a,=1,d=73
a,=a,+(n—1Dd=1+4(n—1)3) =302

108 — 8n

6l a, = 05,a,= 1.3 =d = (8
g = a, + 9d = 05 + 9(0.8) = 7.7
S0 ="Ya, + a,)) =505 +7.7) = 41

65. a; = I, ag, = 50, n = 50

li}

2‘" - 2;: = 2011 + 30) — (1 + 10) = 355
1 A=

ERN

50
2 (1 + 30} = 1275

69,

T ay = 4, g = 503, 1= 500
f(n +3) =
- n=|

83 a,=20,d=4, n =130
sy = 20 + 29(4) = 136
8.0 = $(20 + 36) = 2340 seats

(4 + 503) = 126,750

85. a, = 14, ay, = 31

8,5 = 2(14 + 31) = 405 bricks

=28 42=2%etc. = d=2andn= 15.

815 = flfr + 53) = " = 78 = 585 scats



